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|)_/7 =:] 71~
RERE=F| mas IKEY) FYRANIL — BERREHREEVS— Ge R1.11.12 | R1.11.18 <79 <19
168 s BER
160 |BREE=Z| =m0 IKED rLThTH — REREXRMREGEVS— Ge R1.11.11 | R1.11.18 <6.2 <13
|)/7 ==] ~
170 | RREEZZ| ppe IKEY AEVHRR — EEREXREwVI— Ge R1.11.11 | R1.11.18 <80 17
27 mE
171 ,x,uuﬂif; 2 mmE KEY H+31) — BEEREXBREtVY— Ge R1.11.12 | R1.11.18 <6.2 <15
170 | RBHEZS| pap IKEEY Y5 — REREEMREGEVS— Ge R1.11.11 | R1.11.18 <84 <16
oy =
173 REBE=4 Eee IKEEY) gy A4 — REREREREEVI— Ge R1.11.12 | R1.11.18 <79 <17
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174 "'“,EE 7| msr vagF — BERERRREGEVS— Ge R1.11.11 | R1.11.18 <13 <15
175 ",)Hi"g =% mar >aANL — BERREHREEVS— Ge R1.11.11 | R1.11.18 <70 <14
176 \'“,)Hi“; ?| mas FEA — BERERKREGEVF— Ge R1.11.12 | R1.11.18 <86 17
177 E‘E%,')Ei?]:'y RER 529 — BEREEHREEVS— Ge R1.11.12 | R1.11.18 <81 <16
178 Eé%:'ffg:g RrER ININFLA FTARALA BEREXREGEV5— Ge R1.11.12 | R1.11.18 <74 <15
179 "“,EE ?| mas £S5 A — BERERREGEV5— Ge R1.11.11 | R1.11.18 <6.5 <13
180 E‘%%,')Ei“;:g BEER ) — BERREREEVS— Ge R1.11.11 | R1.11.18 <6.7 <18
181 “,)Ei“g ?| mam RO — BERERNREGEV5— Ge R1.11.11 | R1.11.18 <6.2 <14
182 E‘E%,'EEZQ RER X7 — BERERREGEV5— Ge R1.11.12 | R1.11.18 <71 <18
183 E‘%%;')Hf";:/; RER <ALA — BEREXKREGEV5— Ge R1.11.12 | R1.11.18 <70 <15
184 "“,)Ei“; % maR 23afhLA — BERERNREGEVS— Ge R1.11.12 | R1.11.18 <63 <17
185 E‘E%,')Eijgzg BER <3F — BEREEHREEVS— Ge R1.11.11 | R1.11.18 <85 <16
186 “,)Ei"g ?| mam K ZA — BERREREEVS— Ge R1.11.12 | R1.11.18 <58 <14
187 "“,EE ?| mae X5 A — REREEHREEVS— Ge R1.11.12 | R1.11.18 <70 <15
188 ”’“,EE % mam K& — BERREHREEVS— Ge R1.11.12 | R1.11.18 <77 <15
189 "“,)Hi“; 7| mae REOEA — BERERREGEVF— Ge R1.11.12 | R1.11.18 <74 <17
190 E‘E%,')Ei’gzg RER IXALA —UEF BEREREHREGEVS— Ge R1.11.12 | R1.11.18 <71 <15
191 Eé'j)ﬂf“;;g BER LoHLA — EEREXREGEV5— Ge R1.11.12 | R1.11.18 <80 <17
192 "“,)Ei“; ? mam A EHLA — EEREFRRA VS Ge R1.11.12 | R1.11.18 <68 <14
193 E‘%%,')Ei“;:g BEER AL — BERREHREEVS— Ge R1.11.12 | R1.11.18 <6.2 <15
194 “,)Ei“g ?| mam YFELIUALA — BERERNREGEVS— Ge R1.11.12 | R1.11.18 <713 <16
195 "“,EE ?| mas AFhYT — BERERREGEV5— Ge R1.11.12 | R1.11.18 <6.7 <15
196 ”"‘,)Hi“z ?| mae Y= — BERREHREEVS— Ge R1.11.11 | R1.11.18 <72 <14
197 "“,)Ei“; ?| mae TH= — BERERRNREGEVS— Ge R1.11.12 | R1.11.18 <74 <16
198 |FERE=S| ae ToYXAN — BERREHREEVS— Ge R1.11.12 | R1.11.18 <13 <16
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199 “'“,EE % mem <45 REREEREEVS— Ge R1.11.12 | R1.11.18 <78 17
200 “,)Ef“g =% mam — BEREXKREGEV5— Ge R1.11.12 | R1.11.18 <90 <20
201 \'“,)Hi“; ?| mas — BERERKREGEVF— Ge R1.11.14 | R1.11.18 <17 <15
202 E‘E%,')Ei"gzg BER — BEREREHREGEVS— Ge R1.11.14 | R1.11.18 <71 <14
203 Eé%:'ffg:g BER Y453 — BERERRREGEVF— Ge R1.11.12 | R1.11.18 <80 <17
204 "“,EE ?| mas TURIERF — BERERREGEV5— Ge R1.11.12 | R1.11.18 <80 <19
205 Efg%,'fi“;:g BER — BERREREEVS— Ge R1.11.12 | R1.11.18 <73 <15
206 “,)Ei“g % mae — REREXMEEGEVS— Ge R1.11.11 | R1.11.18 <80 <19
207 E‘E%,')Ei"gzg BER — BERERREGEV5— Ge R1.11.11 | R1.11.18 <9.2 <19
208 E‘%%;')Hf“gzg BER — BEREXKREGEV5— Ge R1.11.11 | R1.11.18 <90 <19
209 \'“,)Ei“; 7| mam — BERERNREGEVS— Ge R1.11.11 | R1.11.18 <74 <19
210 E‘E%,')Eijgzg BER — BERREREEVS— Ge R1.11.11 | R1.11.18 <86 <20
211 “,)Ef“g ?| mae — BERREREEVS— Ge R1.11.11 | R1.11.18 <78 <19
212 *'“,EE ?| mas — REREEHREEVS— Ge R1.11.13 | R1.11.18 <84 <19
213 ”'“,)Ei“,g ?| mam — BERREHREEVS— Ge R1.11.13 | R1.11.18 <83 <19
214 \'“,)Hi“; ?| mas — BERERREGEVF— Ge R1.11.13 | R1.11.18 <86 <20
215 E‘E%,')Ei’gzg BER — BEREEREG VS Ge R1.11.13 | R1.11.18 <84 <19
216 Ef%’“,‘)ﬂf“;;g RER — EERERERE VS Ge R1.11.13 | R1.11.18 <84 <19
217 \'“,)Ei“; 7| mas — EEREEREG VS Ge R1.11.13 | R1.11.18 <86 <20
218 E‘%%,')Ei“;:g BER — BERREHREEVS— Ge R1.11.12 | R1.11.18 <73 <16
219 “,)Ei“g % mae — REREXRMREGEVS— Ge R1.11.12 | R1.11.18 <72 <14
220 *'“,EE 7| mer 1 BERERREGEV5— Ge R1.11.12 | R1.11.18 <13 <16
221 “"‘,)Hi“z 7| mar — BEREXKREGEV5— Ge R1.11.10 | R1.11.19 <76 <19
222 \'“,)Ei“; ?| mas — BERERREGEVF— Ge R1.11.10 | R1.11.19 <72 <14
223 |FEREE=T| zom — BERREHREEVS— Ge R1.11.10 | R1.11.19 <170 <15
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274 “'“,EE ?| mae — REREEREEVS— Ge R1.11.10 | R1.11.19 <76 <74 <15
275 Eé%,')ﬂi“gzg BER — BEREXKREGEV5— Ge R1.11.10 | R1.11.19 <71 <70 <14
276 \'“,)Hi“; 7| mae — BERERNREGEV5— Ge R1.11.11 | R1.11.19 <94 <84 <18
277 Efg%,'ﬁ“;:'s‘ BER —OEF BEREEHREEVS— Ge R1.11.11 | R1.11.19 <98 <81 <18
278 Eé%:'ff“g:g EEE LoAiLA — BEREXREGEV5— Ge R1.11.10 | R1.11.19 <87 <72 <16
279 "“,EE % maR LA — REREEHREGEVS— Ge R1.11.10 | R1.11.19 <9.1 <74 <17
280 E‘%%,')Ei“;:g BER — BEREEHREEVS— Ge R1.11.10 | R1.11.19 <65 <6.1 <13
281 \'“,)Ei“; ?| mam YHE¥LOHLA — REREXMEEGEVS— Ge R1.11.10 | R1.11.19 <88 <638 <16
282 E‘E%I'E“E:'s‘ BER — EERERRE VS Ge R1.11.11 | R1.11.19 <83 <74 <16
283 E‘%%;')Hf“gzg BER DURTIANh — BEREXKREGEV5— Ge R1.11.11 | R1.11.19 <90 <17 <17
284 "“,)Ei“; % maR ESVAH= — REREEMREGEVS— Ge R1.11.10 | R1.11.19 <8.1 <6.9 <15
285 E‘E%,')Eijgzg BER — BERREREEVS— Ge R1.11.10 | R1.11.19 <97 <74 <17
286 "'“,)Ef"; ?| mae Y+r¥4a — BERREREEVS— Ge R1.11.11 | R1.11.19 <8.1 <83 <16
287 *'“,EE ?| mas — REREEHREEVS— Ge R1.11.11 | R1.11.19 <15 <6.2 <14
288 Efg%,')ﬂi“,;:g BER — BERREHREEVS— Ge R1.11.11 | R1.11.19 <11 <87 <20
289 "“,)Hi“g 7| mae ¥ <3 — EERERNRE VS Ge R1.11.10 | R1.11.19 <80 <88 <17
290 E‘E%,')Eigzg RER FRALSHFXH= — EERERRE VI Ge R1.11.11 | R1.11.19 <15 <78 <15
291 Eé%;'ff“gzg BEER DRAIN)L — EEREEREG VS Ge R1.11.12 | R1.11.19 <82 <73 <16
292 "“,)Ei“; ?| mae FYRANIL — BERERFERRA VS Ge R1.11.12 | R1.11.19 <17 <8.1 <16
293 E‘%%,')Ei“;:g BER — BERREHREEVS— Ge R1.11.10 | R1.11.19 <74 <6.3 <14
294 \'“,)Ei“g % mae — REREXRMREGEVS— Ge R1.11.9 | R1.11.20 <63 12.5 13
295 *'“,EE ?| mas — BERERRREGEVS— Ge R1.11.2 | R1.11.20 7.3 42.4 50
296 Efg%,'ﬁ“zzg BER B R (BT ER) K FR) — BERREHREEVS— Ge R1.11.10 | R1.11.20 <9.2 25.6 26
297 *'“,)Ei“; ? maR LN (FTEBR I K FR) — BEERERBAtV5— Ge R1.114 | R1.11.20 <96 16.4 16
208 |FEHE=Y| gm &BIE BERERBA S Ge R1.11.14 | R1.11.20 <85 <71 <16
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324 “'“,EE ?| mae — REREEREEVS— Ge R1.11.21 | R1.11.21 <6.1 <13
325 “,)Ef“g =% mar — BERREHREEVS— Ge R1.11.21 | R1.11.21 <93 <18
326 \'“,)Hi“; 7| mae — BERERNREGEV5— Ge R1.11.21 | R1.11.21 <78 <16
327 E‘g%,'ﬁ?]:'y RER — BEREEHREEVS— Ge R1.11.21 | R1.11.21 <81 <16
328 sg%:-)aig:/; EER — BERRFEHREVS— Ge R1.11.21 | R1.11.21 <88 <18
329 *'“,EE ?| mae — BERERRREGEVS— Ge R1.11.21 | R1.11.21 <83 <16
330 E‘%%,')Ei“;:g BER — BERREREEVS— Ge R1.11.21 | R1.11.21 <70 <15
331 “,)Ei“g % mae — REREXMEEGEVS— Ge R1.11.21 | R1.11.21 <70 <17
332 E‘E%I'E“E:'s‘ BER — BERREHREEVS— Ge R1.11.21 | R1.11.21 <68 <14
333 E‘%%;')Hf“gzg BER — BEREXKREGEV5— Ge R1.11.21 | R1.11.21 <12 <15
334 \'“,)Ei“; 7| mam — BERERNREGEVS— Ge R1.11.21 | R1.11.21 <95 <18
335 E‘E%,')Eijgzg BER — BEREEHREEVS— Ge R1.11.21 | R1.11.21 <74 <15
336 “,)Ef“g ?| mae — BERREREEVS— Ge R1.11.21 | R1.11.21 <65 <16
337 *'“,EE ?| mas — REREEHREEVS— Ge R1.11.21 | R1.11.21 <15 <16
338 ”'“,)Ei“,g ?| mae — BERREHREEVS— Ge R1.11.21 | R1.11.21 <82 <17
339 \'“,)Hi“; 7| mae — BERERNREGEV5— Ge R1.11.21 | R1.11.21 <938 <19
340 E‘E%,')Eigzg RER — BEREFRBA S Ge R1.11.21 | R1.11.21 <13 <15
341 Ef%’“,‘)ﬂf";;g BER — EERERERE VS Ge R1.11.21 | R1.11.21 <15 <15
342 \'“,)Ei“; ?| mae — EEREFRRA VS Ge R1.11.21 | R1.11.21 <74 <16
343 E‘%%,')Ei“;:g BER — BERREHREEVS— Ge R1.11.21 | R1.11.21 <6.6 <16
344 “,)Ei“g % mae — REREXRMREGEVS— Ge R1.11.21 | R1.11.21 <74 <16
345 *'“,EE ?| mas — BERERRREGEVS— Ge R1.11.21 | R1.11.21 <741 <16
346 “"‘,)Hi“z ?| mam — BERREHREEVS— Ge R1.11.21 | R1.11.21 <72 <16
347 \'“,)Ei“; ?| mae — BERERRNREGEVS— Ge R1.11.21 | R1.11.21 <938 <19
g |RRHE=Y Epm — BERREHREEVS— Ge R1.11.21 | R1.11.21 <80 <17
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349 “'“,EE ?| mae BED — BEREFREA VS Ge R1.11.21 | R1.11.21 <81
350 '*,)Hi“g =% mar BED — BEREERAtVS— Ge R1.11.21 | R1.11.21 <86
351 \'“,)Hi“; 7| mae BEY — REREXEMREGEVS— Ge R1.11.21 | R1.11.21 8.76
352 E‘g%,'ﬁ?]:'y RER BED — BEREFRBA S Ge R1.11.22 | R1.11.22 <6.9
353 sg%:-)aig:/; BEEE BEY — BEERENEL S— Ge R1.1122 | R1.11.22 <6.7
354 *'“,EE ?| mae BEY — BERERRREGEVS— Ge R1.11.22 | R1.11.22 <82
355 Efg%,'fi“;:g BER BEY — BEEREXBREtVY— Ge R1.11.22 | R1.11.22 <83
356 “,)Ei“; % mae BEY — REREXMEEGEVS— Ge R1.11.22 | R1.11.22 <9.0
357 E‘E%I'E“E:'s‘ BER BED — BERREHREEVS— Ge R1.11.22 | R1.11.22 <82
358 Eé%;'fi“gzg RER BED — RERERERAtS— Ge R1.11.22 | R1.11.22 <6.7
359 \'“,)Ei“; 7| mam BEY — REREEMREGEVS— Ge R1.11.22 | R1.11.22 <65
360 E‘E%,')Eij,g:'y BER BEY — BEEREXBREtVY— Ge R1.11.22 | R1.11.22 <79
361 “,)Ef“g ?| mae BEY — BERREREEVS— Ge R1.11.22 | R1.11.22 <78
362 *'“,EE ?| mas BEY — REREEHREEVS— Ge R1.11.22 | R1.11.22 <83
363 “’“,)Ei“z ?| mae BEY — BEEREXBREtVY— Ge R1.11.22 | R1.11.22 <6.4
364 \'“,)Hi“; 7| mae BEY — REREEMREGEVS— Ge R1.11.22 | R1.11.22 <11
365 E‘E%,')Eigzg RER BED — BEREFRBA S Ge R1.11.22 | R1.11.22 <6.0
366 Ef%’j)ﬂf“;;g BEE | KERTH BEM — EEREENE L I— Ge RI.11.22 | R1.11.22 <60
367 \'“,)Ei“; ?| mae BED — EEREFRRA VS Ge R1.11.22 | R1.11.22 <9.1
368 Efg%,'fi“;:g BER BEY — BEEREXBREtVY— Ge R1.11.22 | R1.11.22 <6.9
369 “,)Ei“g % mae BEY — REREXRMREGEVS— Ge R1.11.22 | R1.11.22 <6.4
370 *'“,EE ?| mas BEY — BERERRREGEVS— Ge R1.11.22 | R1.11.22 <11
371 ""‘,)Ei“z ?| mam BED — BERRFEHREEVS— Ge R1.11.22 | R1.11.22 <93
372 \'“,)Ei“; ?| mae BEY — REREEMREGEVS— Ge R1.11.22 | R1.11.22 <82
373 |RRHE=Y Epm BED — BERERBA S Ge R1.11.22 | R1.11.22 <16
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374 “'“,EE ?| mae — REREEREEVS— Ge R1.11.22 | R1.11.22 <65 <16
375 ",)Ef“g =% mam — BEREXKREGEV5— Ge R1.11.22 | R1.11.22 <71 <14
376 \'“,)Hi“; 7| mae — BERERNREGEV5— Ge R1.11.22 | R1.11.22 <638 <17
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379 *'“,EE ?| mae — BERERRREGEVS— Ge R1.11.22 | R1.11.22 <79 <16
380 E‘%%,')Ei“;:g BER — BERREREEVS— Ge R1.11.22 | R1.11.22 <741 <16
381 “,)Ei“; % mae — REREXMEEGEVS— Ge R1.11.22 | R1.11.22 <741 <16
382 E‘E%I'E“E:'s‘ BER — BERREHREEVS— Ge R1.11.22 | R1.11.22 <78 <16
383 E‘%%;')Hf“gz 7| mar — BEREXKREGEV5— Ge R1.11.22 | R1.11.22 <71 <16
384 \'“,)Ei“; 7| mam — BERERNREGEVS— Ge R1.11.22 | R1.11.22 <6.9 <16
385 E‘E%,')Eijgzg BER — BEREEHREEVS— Ge R1.11.22 | R1.11.22 <6.8 <15
386 “,)Ef“g ?| mae — BERREREEVS— Ge R1.11.22 | R1.11.22 <6.0 <14
387 *'“,EE ?| mas — REREEHREEVS— Ge R1.11.22 | R1.11.22 <80 <16
388 “’“,)Ei“z ?| mae — BERREHREEVS— Ge R1.11.22 | R1.11.22 <538 <14
389 \'“,)Hi“; 7| mae — BERERNREGEV5— Ge R1.11.22 | R1.11.22 <13 <15
390 E‘E%,')Eigzg RER — BEREFRBA S Ge R1.11.22 | R1.11.22 <81 <16
391 Ef%’“,‘)ﬂf";;g RER — EEREXREGEV5— Ge R1.11.22 | R1.11.22 <17 <17
392 "“,)Ei“; ? mam BRI A5 4 EEREFRRA VS Ge R1.11.21 | R1.11.22 15.2 15
393 Efg%,'fi“;:g BER = RRL A5 ik RERREHREVY— Ge R1.11.21 | R1.11.22 <58 <12
394 “,)Ei“g ?| mam ER A3 k34 REREXRMREGEVS— Ge R1.11.21 | R1.11.22 <32 <14
395 *'“,EE ?| mas RS A% 4 BERERRREGEVS— Ge R1.11.21 | R1.11.22 <31 <5.9
396 ”'“,)Ei“z ?| mam ER A3 ik BERRFEHREEVS— Ge R1.11.21 | R1.11.22 <36 <8.2
397 \'“,)Ei“; ?| mae & BERERRNREGEVS— Ge R1.11.21 | R1.11.22 <20 <5.7
208 |FEHE=Y Zgm ER A3 ik BEREEHREEVS— Ge R1.11.21 | R1.11.22 <25 <6.4
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